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QUESTION 1

What does the lower bound of the multiplicity of a part in a structured classifier indicate? The minimum number of .
A. links that can be connected to that part

B. connectors that can be connected to that part

C. instances corresponding to that part that can exist when the classifier is instantiated

D. times that an instance corresponding to that part can be created during the lifetime of the structured classifier
instance

Correct Answer: C

QUESTION 2

What is NOT a correct assertion?

A. Stereotypes extending a model element are immutable.

B. Stereotypes extending a model element can be retracted at any time.

C. A model element can be extended by several stereotypes at the same time.

D. Un-applying a profile from a model deletes all related stereotypes extending the model.

Correct Answer: A

QUESTION 3

In the exhibit, if the incoming arrows provide three control values, how many control values are provided to the outgoing
arrow?

A4
WV

A. none
B. one
C. two

D. three
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Correct Answer: B

QUESTION 4

In the exhibit, what is true about Mpar?
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A. Every trace contains all three messages.

B. Sending p must always precede sending .

C. Receiving p must always precede receiving g.

D. There are legal traces that do not contain message q.

Correct Answer: A

QUESTION 5

What kind of element is a central buffer?
A. state

B. action

C. activity

D. behavior

E. object node

F. control node
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Correct Answer: E
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